B C A D
B e e e e e e L B
-5 0 5
& A[ ]D © B[ |C
®cl ]a @ Dp[ |B

5249 14 8% D 7} 9 4 9% Bt onz
371 b 2t

B<C<A<D




ol
iS¢
ol
o8

—_—

X

olg
Nfo
,m_.o

o

—_—

=
!l

N

ol
oF
T
R

<

op

-1.5

15 2 25

1 DEF 3

-0.5 0

-2A-1BC

3 7feltt.

[e]
.

H2 A F olt.

A

o
AR

ofl A 7pak W o]
@ A BetA C Aol

@357t ot

a7

®

+ 3 7ot

e

o
Ay

2l




ohg 3 AN ARt 1Y Ze A2

D —22 — (=3)* 47 @) (1) x (-5)?
® (-16) x (-1) - 19 @ 18+ (=3)2x (-1)?

® 35-14x (-2?)

B

@ -22— (=33 +7=-4-(=27)+7
=-4+4+27+7=30
@ (—4) x (=5)% = (=4) x (+25) = =100
® (-16) x (-1)> =19 = (-16) x (-1) - 19
=16-19=-3
@ 18 + (=3)2 x (-1)? = 18 + (+9) x (+1)
=2x(+1)=2

® 35— 14 x (-22) = 35— 14 x (-4)
=35+ 56 = 91
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AEH?

@) @ 9 ®16 @23 O

160 = 25 x 5,280 = 23 x5 x 7 O|B & T49] H g
23 x 5 = 40 o|t}.
T 59 FokrE T 0] g efao] offo| B2 40 o] oF4=2]

1, 2, 4, 5, 8, 10, 20, 40 FolA AlF4+= 1,4 0]t}
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9. lal=25 pl=5%F AT a bolHistdatb o HAG= A, axb
o] 2|42 B 2F kAL oldl, A + B O] #2?

O 20 @ -20 (@)25 @ -25 ® 30

B

25| = | - 25| = 25 O] 22
a=25Ex=q=-250]1
5| =|-5/=5°|2=&
b=5%Eb=-5°lt}

42N Tt (a0 b)) 9
(25,5), (25,-5), (-25,5), (-25,-5) ]t}
24 AL a+b & a+bE ST o] 7 5 Aot

(i) (a, b) = (25, 5) & ],
a+b=25+5=30,a+b=25+5=>5 0|t

(i) (a, b) = (25, —5) &
a+b=25+(-5)=20, a+b=25+(-5)= -5 o=

(iii) (a, b) = (=25, 5) & o,
a+b=(-25)+5=-20, a+bh=(-25)+5=-5 ot}

(iv) (a, b) = (=25, —5) & o,
a+b=(-25)+ (-5) = -30, a + b= (-25) + (-5) = 5 °|t}.
wakA, a+b O] HAG A & asb 2] L BEA =30, B=-5
oJtt.
s A+B=30+(-5)=25
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N =a"b"c'--- oA Fef o) A= (m+1)(n+1)(1+1) -
ojal, ek4=9] Z|7F105 = 3x 5% 7 (FH) 12 m, n, | O] Fh2
A2 2, 4, 6 o|tf. &2 AASTE FofjoF SHER, g, b, ¢ 9
e A2 A5EEH A= gdsta, A= & 7H AR
tHQASHH N = 26 x 3 x 52 0|11, o] 2= 960 = 26 x 3 x 5 9]
Hj o] B &2 129600 ©] Fo] Hrt.
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SPEA v el 7hz et A= o] o7t Z2F 300 cm, 270 cm )1 oA
H T Eolo] A A R BrdE RIERlol WA Y &7
o1l ot} BdE 2/ Al 2olHal & o, st B9
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@ 1lcm @ 2cm (@)4cm @ 5cm ® 10cm

B ~
Bt 9] g ¥ o] Zo]7t 3007} 270 & FeFolH S 277
2 2 4 AUk

300 =22 x3x52 270 =2x33x 50| L&

T 79 FHFFT+= 2x3%x5 = 30°]th

whebA] Bl o] g M o] Zol= 1cem, 2em, 3cem, 5cm, 6cm,
10 cm, 15cm, 30 cm 7} 755ttt




15. 5 A a, b ol iste] b o] AUigho] o o] AUigiHtt 6 v 21,
a<b,axb<0, b—a=14 S W=ZS 0 g+ b 2] ZE2?

@ 2 @ 6 (@)10 @ 12 © 14

B ~

ab<0, a<bollX a<0, b>0

bl=6x%aloNX b=—-6a —6a—a=-Ta=14, .. a= -2
. b=—6a=(=6)x (=2) = 12

Ta+b=-2+12=10




